
Answer on Question #75311 Physics / Other 

A block of wood floats in water with 3 by 4 part under water if it float in another liquid with 9 

by 10 part under water then the relative density of this liquid is? 

Solution:  

When a body floats in liquid, the net force is zero 

𝐹net = 𝑚𝑔 − 𝑔𝜌L𝑉disp = 0 

Thus 

𝑚 = 𝜌L𝑉disp 

where 𝑚 is a body mass, 𝜌L is a liquid density, 𝑉disp is the volume of the displaced body of liquid. 

Because 𝑚 = 𝜌𝑉, the body density 

𝜌 = 𝜌L
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Let us consider this equation for two cases: 

𝜌 = 𝜌water
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Finally 
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Answer: 𝜌liquid/𝜌water = 5/6 
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